E-32/2111 13534/NJJ
Financial Accounting-I
Sem-I
Time:- 3hrs . M.M- 70

Note:- The Candidates are required to attempt two questions each from Section A & B
10 marks. Section C will be compulsory 30 marks.

Section A

Q1 |
Explain the principle of double entry. Describe the features of double entry
system of accounting. How do you calculate double entry? Describe the
advantages of double entry system.,

(10)
Q2
What are Subsidiary Books? Explain the followmo types of Subsidiary Books.
1. Cash book
2. Purchases book
3. Bills receivable book (10)
Q3
Enter the following transactions in the Journal and post them into ledger
and from the information obtained prepare a Trial Balance.

Nov 10™ : Mrs. Roy started business with 60,000

11th : Bought furniture from Modern Furniture for 10,000

12th : Purchased goods for cash 15,000

13th : Purchased goods from Sen & Co for 30,000

14t : Opened a bank account by deposifing 16,000

16t : Sold goods for cash 15,000

17 : Purchased stationery for 1000 from Bharat Stationery Mart
18th : Sold goods to Zahir Khan for 10,000

19t : Bought machinery for 6,000 and payment made by cheque
20t : Goods returned by Zahir Khan for 2,000 ’

215t : Payment to Sen & Co by cheque 5,000

22nd : Withdrew from bank for personal use 3,000

Z23rd . Interest paid through cheque 2,000

24th : Withdrew from bank for office expenses 10,000

26t : Cheque received from Zahir Khan 5,000

27t : Paid electricity bill for 100

29 : Cash sales for 6,000

30th : Commission receivec bv cheaue 5 000



Q4

Prepare Bank Reconciliation Statement of

2019 R

Singh & Singh has a difference in the balance as per Cash Book and bank

statement as on 31stMarch 2019. You are advised to prepare a Bank

Reconciliation statement as on that date with the following information: |

. Balance as per Bank Statement as on 31st March 2019 is Rs. 4,000. Balance

as per Cash Bookis Rs. 1,400.

. Cheque of Rs. 1,000 and Rs. 500 issued as on 30t March 2019, but not yet

cleared

. An insurance premium paid by bank Rs. 200. It is not yet recorded in Cash

Book.

. An outgoing cheque of Rs. 2,000 recorded twice in the Cash Book. It is

properly recorded in the bank statement,

. Payment of a cheque of Rs. 400 recorded twice in Passbook.

_ Dividends received Rs. 500 recorded only in the bank statements and not
Cash Book. : :

. Cheque of Rs. 700 deposited on 29™ March 2019. But, it is-not yet collected.

. Bank charges of Rs. 100 debited only in Bank Passbook.

Singh & Singh as on 31st March

(10)
Section B
Q5
Explain the concept of Depreciation. Describe causes of Depreciation and
the need for providing Depreciation. What are the different methods of
accounting Depreciation? Explain accelerated method of depreciation.
(10)
Q6
What are capital revenues? What is the difference between capital and
revenue items? Why distincticn between capital and revenue items is
important? What are the two tvpes of revenue receipts?
: (10)
Q7
Rakesh, Kapil and Swami are partners in a firm sharing profits and losses
in 3:2:7 ratios. They admit Ravi as a new partner for 1/8 share in the
profits. . Calculate
a) The profit sharing ratio between Kapil and Ravi
b) The new profit sharing ratio between Rakesh, Kapil and Swami
(10)



i

Q8 b

There are two partners A and B sharing profits in the ratio of 3: 2

respectively and having capitals—A, Rs 80,000 and B, Rs 50,000. After

paying off all the creditors, twc further instalments are collected—one of

Rs 40,000 and the other of Es 20,000. How each instalment is to be

distributed? ‘
(10)

Section C

Q9

Attempt any 10 parts

a) State the appropriate subsidiary book to record the following

transactions
i.  Purchase of goods from Ram
ii. Purchase of furniture in cash
iii. Depreciation on plant and machinery

b) What are the three branches of accounting and their scope?

¢) What are the different types of accounting and its importance?

d) What are the objectives of amalgamation of firms?

e) A Rampur Company stars the year with Rs. 250,000 in assets and Rs.
210,000 in liabilities. Net income for the year is Rs. 65,000, and no
dividends are paid. How ruch is the owner’s equity at the end of the
year?

f) A company issued 1200 equity shares of Rs. 50 each at a discount of 5
%% for its working capital. Give journal entry for issue of shares.

g) Current liabilities of a company are 5, 60,000. A machine has been
purchased for down payment of Rs. 80000 and an installment of Rs.
72000 after a year. What is the present value of machine when rate
of interest chargeable is 10% per annum?

h) Amit purchases a machine for Rs. 100,000 with an estimated salvage
value of Rs. 20,000 and a useful life of 5 years. Calculate the straight
line yearly depreciation for the machine.

i) Azad, Vijay and Amit are partners sharing profits and losses in the
proportion of 1/4, 1/8 and 10/16. Calculate the new profit sharing
ratio between continuing partners if Vijay retires.

i) What is meant by conversion of firm into company?

k) Explain the journal entries format.

1) Current liabilities of a company are 5, 60,000 and the current ratio is
5- 2. Find the value of current assets of the company.

(3X10)



AIHG ©

Ql By
SeE et 2 firos & fanrfimr 531 Surardt € FE8 Wed! YEra e

W?W&élgﬁﬁgmémﬁéa@é‘?mm
fHeH 2 orfafon T 2355 <1

(10)
Q2
m@aﬁﬂﬁ%?m@ag»ﬂﬁw‘%@mwrﬁmﬁéﬁm@wa@

1. g

). fgzg Hdee J

3. i YUz 396 waT 937 (10)
gm%&o‘ﬁ?qﬂam‘éma@m@@aﬁéaﬂﬁaﬂﬂzaém@
Wm%wméﬁﬂmﬁl

10 52Eg: St I8 & 60,000 T S FY A

1= - 396 29889 3 10,000 10 SIorod Haifenr
10t e 15,000 &g A HJtfen famf

138" : A W Ut 3 30,000 g A Hatfen

14: 16,000 T SIS o S w37 Afgnr

168 : B 15,000 fET FHTS 2fgnrr famir

|7at - I3 ARHGT Hae 3 1000 S ACHGS! HItel

182 : A9 1S & 10,000 9 TS <o

19: 6,000 TF HHTSIT HIEt W3 I oW 3913 AT famr
H0E TIg HE ©ET 2,000 T FHG @UH ai3T famir

21T : S g SUSH § 5,000 B T FAES

27 st 233 B8 84 3 3,000 TETE

H3at - femird 2,000 T It nieT 3T famr

24 TSIIT yIfomTt B8 10,000 €8 3 SR

26: TG B F 5,000 T T S Ifemr




27- 100 L s T f5% wer 3T
29: 6,000 B saE fesdt
308« 5,000 € T Trar e YU e

(10)
Q4
31%20196%@%@9&%%@»@6«%

31m°0196§ﬂaam?éaﬂazﬂzémﬁww@ffﬂwéaa@fee
mélm%%@mﬂém@ﬂﬁ@ﬁ@aé&mﬁ%
reeite fanrg 996 © AT i3l A 3
1.31%2019@%&%@?@@89&@@@51 4,000 I EI T
WEHTS ST U 31 1,400

2. QU T B 1,000 M3 3. 30%82019?5500#@6@3@,%@57&
FHMT &I I8

B.QEWWWWF@HWWWI 200. feg WA 3T 3A
g ffg ©ar &J1 JI

4. U T PSR B I 2,00(@7?{%”6(%6@@8%?6%\3’3@1@3@3
Heeie &g A S91 5% TIH I

5. UBE R I T IIB O 100 UAES S © @9 TaH S13 I

6. BromiE Y3 I¢ g. 500 fHIE Sy Feeiict 89 B9 96,5 [ an 54 i<l
7. guR B 51 29 HIE 2019 % 700 FUE Ty 13 IRI S, fog e 33 foss
&It 98I

8. JUB T = HIJ| 100 fige S uASd &g 2fae Si3 I8 I

(10)
ASHG =l

Q5
weg & gder o fanrfim 3. =G @ Aot W3 WS TS S96 O 3F

or =gEs aF | wrgfEa fris € 62 331 &l 957 wer§ 3 a1
< fenrfemr 31
(10)



Q6
gﬁmﬁaﬁ?gﬁmﬁmﬁwaﬂ@ﬁﬁsﬁm%@ﬁrﬁm

e feg wiza g Ha3eyas S forn S HrEMr YU of I

(10)
Q7
g, S W3 HEH 3:2:7 Wﬁaw@w@gwme@r@a «.

@Hﬁamml@mﬁamﬁﬁsﬁraﬁéﬁaﬁweﬁ%@
I . IEST I ‘1
a)m@aéﬁmwégm
b)aﬁﬂ,aﬁmwmmwg@é—sm

(10) “

8

gEGﬂE‘HAN?B JHT I 3:2 :‘;ivf;@urz%amwgaaéaaw@gﬁ-&
80,000 GUR "3 B, 50,000 FUE I&| AY eorgt T FEEEIS 3 TE, B
S5 fmst foddr S e Ie- e 40,000 UB i3 gril 20,000
uE Tl aéa‘%’ﬂz’:%'é*—wm“sﬁmm

AHG Al

Q9
£ & 10 39T 2 AfFE 3

a) foHoiBH3 e-2 § f9a98 95 B gad AIed a3t ©H

L gH I HE S udeed!

i, more g IIaTd ©f HAlT

i, Uste w3 Hilted! '3 ot
b)WW%W@@W@W&T@
c)W—WW@-@W@WW&?%?

d) S © Deliags © 2R & I87

e) fiq IrHYg U & A €T J. 250,000 Fugnf w3 g. 210,000 SEEIMI
S 8 o wiHEs gUe J 65,uou,m—sféﬁs@s‘m€rmﬁa°faﬁ?ﬂ*€r
érlméwi?ﬁaﬂwéﬁg&@ﬁ?ﬁé?



) fie ST & FUE T 1200 fagfadt g ATl &3 faret argrms Unt BE
596 B ge '3 50 IIS| A F'S g BE AIeS Wl el
o) fo shidt €t Aiger SEerdin’ 5,60,000 %51 QU B TS Wi B HHlS
wISt 9TE 31 80000 3 guUE T faE3| fEd 7 8miIT 72000 A ESIESS I
10%@%@53*%@?@?%&@@3?
) wifh3 gu fEe i HEes Hdeer 31 100,000 TR 2 eSS T S ©
=1 20,000 W3 5 AS S GUUdT fHEam Hﬂiﬁwmﬁéwéﬂwuw@
@ dreeT |
) e, fer w3 wiH3 1/4, 1/8 W3 10/16 émfﬁgww@?ﬂmw
s =3 BT 9ol 39 e feerfis I e 3 3 fod3I AREY g
=3 B9 2 WS o IEST I
j)aaﬂéaiu??rféﬂa%?sﬁmé?
k) FIeS rieamit & e ©f fanrem 3|
1) foriy Shuas €t Higer SEai 5,60,000 T w3 igeT wedrS 5:2 J1 ST
éf@@ﬁt@%ﬁ@)j@waé

(3X10)



